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M. A. (THIRD SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(ECONOMICS)
PAPER FIRST

(ECONOMICS OF GROWTH)

Time : Three Hours] [Maximum Marks:80

  
Note : Attempt all sections as directed.



Section - A

 

(Objective/Multiple choice Questions)

    

Attempt all questions.

  

Choose the correct answer:

P.T.O.
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1. 
   

(A) 

(B) 

(C)  

(D)  

"Economic growth can be defind simply as an improve-
ment in economic welfare" who said it?

(A) Liebenstein

(B) Nurkse

(C) Colin clark

(D) Arther Lewis

2. "The theory of Economic Development"

(A) 

(B)  

(C) 

(D) 

"The therory of Economic development" book's writer is....

(A) Schumpeter

. (B) Joan Robinson

(C) Rostow

(D) Liebenstein
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3.   

(A)  

(B)  

(C) 

(D)  

Mahalanobis model is based on-

(A) Mead model

(B) Keynes model

(C) Harrod-Domar model

(D) Solow model

4.      

(A)  

(B)  

(C)  

(D)    

Factor on Non-Economic factors is-

(A) Natural resourses

(B) Human resources

(C) Technical progress

(D) Social & Cultural factors

P.T.O.
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5.     

(A)  

(B)  

(C) 

(D)  

"The concept of Golden Age" is concerned with.

(A) Joan Robinson

(B) Rosentein - Rodan

(C) Keynes

(D) Arther Leuis

6.      

(A)  

(B)  

(C) 

(D) 

"Capitalism digs it's own grave" who said it?

(A) Karl Marks

(B) David Ricardo

(C) Schumpeter

(D) Malthus
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7.     

(A) 

(B) 

(C) 

(D) 

In-put-output analysis is concerned with-

(A) Leontief

(B) Harros-Domar

(C) Mead

(D) Mahalanobis

8.     

(A)   

(B)    

(C)    

(D) 

Indicators of Economic development is:

(A) Increase in national income

(B) Increase in per-capita income

(C) Increase in economic welfare

(D) All of the above

P.T.O.

[6]

F-624

9.    

(A)    

(B)     

(C)    

(D)    

Which of the following is a classical therory of growth:

(A) Kaldor's theory of Development

(B) Joan Robinson's theory of Development

(C) Solow's model of Growth

(D) Ricardo's theory of Development

10.      

(A)    

(B)   

(C)   

(D) 

Characteristics of an under developed Economy:

(A) Priority of Primary Sector

(B) Market imperfections

(C) Low capital

(D) All of the above
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11.  

(A)   

(B)   

(C)   

(D)  

Solow model is concerned with:

(A) Short-run growth

(B) Long-run growth

(C) Steady growth

(D) None of these

12.  

(A)  

(B)   

(C)    

(D)   

"Development is the result of Human Endeavours" said
by:

(A) Schumpeter

(B) W.A. Lewis

(B) Meier & Baldwin

(D) None of these

P.T.O.
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13. 

(A)  

(B)  

(C)  

(D) 

Which type of unemployment can be found in under de-
veloped countries.

(A) Cyclical unemployment

(B) Disguised unemployment

(C) Technical unemployment

(D) None of these

14. 


(A)  

(B)  

(C)  

(D) 

Which model is known as four sector growth model?

(A) Mahalanobis model

(B) Mead model

(C) Solow model

(D) Harros-Domar model
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15.      


(A) 

(B)  

(C) 

(D) 

"A country is poor, because it is poor". who said it?

(A) Raghav Nurkse

(B) Jacob Viner

(C) Myrdal

(D) Rostow

16.      

(A)  

(B)    

(C)  

(D) 

Basic requirement for economic development is-

(A) Capital investment

(B) Technologe progress and Innovation

(C) Labour forces

(D) All of the above

P.T.O.
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17.      

(A)  

(B) 

(C)    

(D) 

Indicator of Economics Development is:

(A) Life expectation

(B) Literacy rate

(C) Real per cupita income

(D) All of the above

18.    

(A) 

(B) 

(C) 

(D) 

Income distribution model is concerned with:

(A) Kaldor

(B) Nelson

(C) Myrdal

(D) Fei-Ranis
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19.        

(A) 

(B) 

(C) 

(D) 

Which plan is used in the Mahalanobis model?

(A) First

(B) Second

(C) Third

(D) Fourth

20. 


(A)   

(B)   

(C)    

(D)   

Which is the best method to reduce the inequality in
India?

(A) Nationalisation of Agriculture.

(B) Nationalisation of Industries.

(C) Nationalisation of Agriculture and Industries.

(D) Implementation of progressive taxation.

P.T.O.
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 

Section - B

(2 Marks each)

  

(Very short answer type questions)

    

Note : Attempt all questions. Word limit 30 word.

1.     

Define under-developed Economy.

2. 

What do you mean by relative poverty?

3.     

What is human development Index?

4. 

What is meant by structural change?

5.    

What is Project Evaluation?

6. 

What do you mean by Capital-Output Ratio?



[13]

F-624

7.   

What is technical change?

8.   

What is Innovation?



Section - C

(3 Marks each)

  

(Short answer type questions)

  

Note : Attempt all questions. Word limit 75 word.

1.    

Distinguish between Economic Development and
Economic Growth.

2.      

Comment on - "Poverty is a vicious circle."

3.        

Write a short note on Gender related development Index.

P.T.O.
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4.      

Explain the concept of surplus value in marxin model.

5.      

Explain the main features of Mahalanobis model.

6.       

Explain Harrod's natural growth rate.

7.     

Explain the meaning of input-out put analysis.

8.      

Discuss the role of technology in the process of
Economic Development.



Section - D

(5 marks each)

  

(Long answer type questions)

  

Note : Attempt all questions. Word limit 150 word.

1.         

State the pre-requisites of economic development.
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

OR

      

Explain the concept of 'Poverty line'-

2.      

Explain the Harrod's Growth Model.



OR

        


Explain the main characteristics of classical theory of
economic growth.

3. 

Explain the main elements of solows model of economic
growth.



OR

      

Write a short note on Theory of Capital Accumulation.

P.T.O.

[16]

F-624

4. 

Describe the main methods of project evaluation.



OR

      

Explain the kaldor's model of income distribution.


